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1 Impedance-uf'R.C series AL dircuitis... () z:-,/ku:q O z=yxxi @ z={K+x O {?12:2 of ~
Velocity of electromagnehc waves, |n o~ _ - Cm b €= ien,
2 free space is given by....... -0 C=mg O Csine @ e O Mo&
3 Range of wavelength of visible light is in O 300 nm to 400 nm to O 500 nmto . 50 nm-to
belween.......... 500 nm. 700 nm 800 nm ' 100 nm v
Aire is stretched to double of its o - I
4 length, The strain is........ O 02 01 O ?gm O 05  gnde 4

- Which one is.-Ferromagrietic innature? () Softlron

If the K.E of a free electron doubles, its

'N'lck‘le O Copper - @ Eg;ﬁm

. . ) ’ _, T
de Broglie wavelength changes by the () /2 % O 2 O 1
factor.......... - 2 S 2
The positron has charge which is in ' ' _ o |

7 magniuds equal to tha charge o.... (O Electron Proton (O BPatice @@ Allthese

8 Webber per second is equal to....... O Jouke Volt Otesla O {;l:;l;eeof

9 Unit of decay constant A s........ O ms m- Om | @ s

| Intense Coherent - Mono- _
10 Laser is a-device which can produce.... () beam of beam of (O chromatic - . All these
] light dight beam.of light :

1 Mass equivalent to 831 Mev energy O 6,02x10-2 1.766%x10-2 Q 2671077 -8.02x10-%
5.0 e o _ kg kg _ kg - kg
Pair production occurs only when () 1.02kew 102ev @ 1.02Mev O 1.02 Gev

energy of photon is at least equal to.....

13 becomes““-;«“,'then its rosistance wil @) 16 R

When a wire is stretched and its radius

4R O=R . O zen

@0 O O e 00 @0 e|leo e

be......... .
14 One gauss (16 sequal to......... () 1047 w41 (O 1027 Q 0ot
Galvanometer is used for detection and - . Conductanc
15 measurementof small.... () Voltage Current () Resistance () o

g /A photonwhie passing ihroushin. o pgie () soutiPole () Are loized @ /oo

magnetic field are deflected towards....

¥ these

., The device in which induced emfis ~  gm - AC |
stafically induced emf is......... . Transformer O generator O Aliernalor . O Dynamo
The Inductive reactance of coil depends . AC O De O EothAC& O None of

' o these

upon frequency of ......
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PHYSICS (New)
Inter Part - |l

(Fresh/Reappear)
Note:  Time allowed for Sectlon - B and Section - G Is 2 Hours and 40 minutes.-
Section B

Q-1l  Attempt any TEN parts. Each part carries FOUR marks.

1. Show that reactance is measured in-ohms for both inductors and capamtors\/
Explain different combination of series and parallel combination of capacitors. o~

Distinguish between crystalline, amorphous and polymer solids. ./~
What is the nature of forge betwesn two parallel current carrying wiras

* (in same direction)? -
What is induced emf? Write both dynamically and statically induced emf‘?
Explain back emf in term of A.C motor. /' _
How does doubling the frequency affect the reactance of mductor‘?»./
Define Shear Modulus, Young Modulus and Bulk Madulus, +/ |

=l

©®~No o

orbital transition of electrons in excited atoms?
10. Discuss different types of Quarks., v’

11, Some stars are observed to be redd|sh ancg some are blue, Which stars have the

high surface temperature? Explain.
12. Why the rest mass of photcm is equal to zero'? \/

13. What is meant by the statement that a lasar heam is coherent mono chromatic

and paraltel? / .
Section - C

Note: Attempt any THREE questions. All questions carry equal marks.
Q-lli (a) Explain uncertainty principle. Va ‘

(b) Find the shortest wavelength photdn emitted in a Lyman Series of hydrogen atom.
Q-1V. (a) Write nofe on energy band theory, a{so dsfine conductor, insulator, semi conduator

and super-conductor. /

(b} An electron moves wifh a speed of V= 0.85C. Find its 1oial energy and K.E in
alectron volt.

Qv (@) Explain the Resonance of R.L. C series circlit, Show that resonance accursat a -

frequency determmed by fr—p \/

nF
(b) The RMS value of currant in.an A.C cm:urt is 10A. What is peak currant‘? \./
Q~VI Explain any two of the following:

- (a) Transformer \/
(b) Kirchhoff's Current Law
(¢} Nuclear Fusion Reaction. / .

Why X~-rays have different properties from light even though both origmate from
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